



International Journal of Advance Research Publication and Reviews

Vol 02, Issue 08, pp 809-819, August 2025

Idempotent Elements in Tricomplex Numbers

Jogendra Kumar^{1*}, Anand Kumar².

¹Department of Mathematics, Govt. Degree College, Raza Nagar, Swar, Rampur(UP), India.

²Department of Mathematics, Govt. Degree College, Kant, Shahjahanpur(UP), India.

*jogendra.ibs@gmail.com

ABSTRACT

In 1892, in search for special algebras, Corrado Segre published a paper in which he introduced an infinite family of algebras whose elements are called bicomplex numbers, tricomplex numbers... , n – complex numbers. In that paper Segre introduced idempotent elements of bicomplex numbers. Idempotent elements play a central role in the theory of bicomplex numbers. This paper introduces the algebraic structure of Tricomplex Numbers exploring some of their fundamental properties. We have identified and characterized sixteen distinct idempotent elements of Tricomplex Numbers. We also discuss their properties and establish the relationships among them.

Keywords: Bicomplex Numbers, Tricomplex Numbers, Idempotent elements.

2010 AMS Subject Classification: 30G35, 32A30, 32A10, 13A18.

1. Introduction

The set of bicomplex numbers is defined as (For detail cf. [1], [2], [3],[4], [5].):

$$\mathbb{C}(i_1, i_2) = \{x_1 + i_1x_2 + i_2x_3 + i_1i_2x_4 : x_1, x_2, x_3, x_4 \in \mathbb{C}_0\}$$

where $i_1 \neq i_2, i_1^2 = i_2^2 = -1$ and $i_1i_2 = i_2i_1$.

We shall use the notation $\mathbb{C}_0$ for the set of real numbers and $\mathbb{C}(i_1), \mathbb{C}(i_2)$ for the following sets:

$$\mathbb{C}(i_1) = \{x + i_1y : x, y \in \mathbb{C}_0\}$$

$$\mathbb{C}(i_2) = \{x + i_2y : x, y \in \mathbb{C}_0\}$$

Analogously, we also define $\mathbb{C}(i_1, i_3)$ and $\mathbb{C}(i_2, i_3)$.

1.1 Idempotent elements in $\mathbb{C}(i_1, i_2)$

Besides 0 and 1, there are exactly two non-trivial idempotent elements exist in $\mathbb{C}(i_1, i_2)$, denoted as e_1 and $e_1^\dagger$ and defined as $e_1 = \frac{1+i_1i_2}{2}$ and $e_1^\dagger = \frac{1-i_1i_2}{2}$. Note that $e_1 + e_1^\dagger = 1$ and $e_1e_1^\dagger = e_1^\dagger e_1 = 0$.

1.2 Idempotent elements in $\mathbb{C}(i_1, i_3)$

Besides 0 and 1, there are exactly two non-trivial idempotent elements exist in $\mathbb{C}(i_1, i_3)$, denoted as e_2 and $e_2^\dagger$ and defined as $e_2 = \frac{1+i_1i_3}{2}$ and $e_2^\dagger = \frac{1-i_1i_3}{2}$. Note that $e_2 + e_2^\dagger = 1$ and $e_2e_2^\dagger = e_2^\dagger e_2 = 0$.

1.3 Idempotent elements in $\mathbb{C}(i_2, i_3)$

Besides 0 and 1, there are exactly two non-trivial idempotent elements exist in $\mathbb{C}(i_2, i_3)$, denoted as e_3 and $e_3^\dagger$ and defined as $e_3 = \frac{1+i_2i_3}{2}$ and $e_3^\dagger = \frac{1-i_2i_3}{2}$. Note that $e_3 + e_3^\dagger = 1$ and $e_3e_3^\dagger = e_3e_3^\dagger = 0$.

1.4 Idempotent Representation of the elements of $\mathbb{C}(i_1, i_2)$

The bicomplex numbers can be represented in two different idempotent forms w.r.t. the elements from $\mathbb{C}(i_1)$ and $\mathbb{C}(i_2)$, explained as follows :

(a) The $\mathbb{C}(i_1)$ – idempotent representation of Bicomplex Numbers is given by

$$\begin{aligned}\xi &= x_1 + i_1x_2 + i_2x_3 + i_1i_2x_4 = (x_1 + i_1x_2) + i_2(x_3 + i_1x_4) \\ &= z_1 + i_2z_2 = (z_1 - i_1z_2)e_1 + (z_1 + i_1z_2)e_1^\dagger = {}^1\xi e_1 + {}^2\xi e_1^\dagger,\end{aligned}$$

where, ${}^1\xi = z_1 - i_1z_2 = (x_1 + x_4) + i_1(x_2 - x_3)$,

$${}^2\xi = z_1 + i_1z_2 = (x_1 - x_4) + i_1(x_2 + x_3) \in \mathbb{C}(i_1)$$

(b) The $\mathbb{C}(i_2)$ –idempotent representation of Bicomplex Numbers is given by

$$\begin{aligned}\xi &= x_1 + i_1x_2 + i_2x_3 + i_1i_2x_4 = (x_1 + i_2x_3) + i_1(x_2 + i_2x_4) \\ &= w_1 + i_1w_2 = (w_1 - i_2w_2)e_1 + (w_1 + i_2w_2)e_1^\dagger = \xi_1e_1 + \xi_2e_1^\dagger,\end{aligned}$$

where, $\xi_1 = w_1 - i_2w_2 = (x_1 + x_4) - i_2(x_2 - x_3)$,

$$\xi_2 = w_1 + i_2w_2 = (x_1 - x_4) + i_2(x_2 + x_3) \in \mathbb{C}(i_2)$$

1.5 Singular Elements in $\mathbb{C}(i_1, i_2)$:

Let $\xi, \eta \in \mathbb{C}(i_1, i_2)$ such that $\xi\eta = \eta\xi = 1$, then η is said to be a multiplicative inverse of ξ . The invertible elements are also called non-singular elements. The set of all singular elements in $\mathbb{C}(i_1, i_2)$ is denoted as $\mathbb{O}(i_1, i_2)$ and $\mathbb{C}(i_1, i_2) \setminus \mathbb{O}(i_1, i_2)$ is the set of all non-singular elements in $\mathbb{C}(i_1, i_2)$.

2. The Set of Tricomplex Numbers

The set of Tricomplex Numbers is defined as:

$$\mathbb{C}_3 = \mathbb{C}(i_1, i_2, i_3)$$

$$= \{x_1 + i_1x_2 + i_2x_3 + i_3x_4 + i_1i_2x_5 + i_1i_3x_6 + i_2i_3x_7 + i_1i_2i_3x_8 : x_1, x_2, x_3, x_4, x_5, x_6, x_7, x_8 \in \mathbb{C}_0\}$$

Where $i_1 \neq i_2 \neq i_3$; $i_1^2 = i_2^2 = i_3^2 = -1$, and $i_1i_2 = i_2i_1, i_1i_3 = i_3i_1, i_2i_3 = i_3i_2$.

2.1 Idempotent Elements in $\mathbb{C}(i_1, i_2, i_3)$:

Let $\zeta = \xi + i_3\eta \in \mathbb{C}(i_1, i_2, i_3)$; $\xi, \eta \in \mathbb{C}(i_1, i_2)$ be an idempotent element

$$\Rightarrow \zeta^2 = \zeta$$

$$\Rightarrow (\xi + i_3\eta)^2 = \xi + i_3\eta$$

$$\Rightarrow \xi^2 - \eta^2 + i_3 2\xi\eta = \xi + i_3\eta$$

$$\Rightarrow \xi^2 - \eta^2 = \xi \text{ and } 2\xi\eta = \eta \quad \dots\dots\dots(i)$$

Now for $\eta \in \mathbb{C}(i_1, i_2)$, either $\eta \notin \mathbb{O}(i_1, i_2)$ or $\eta \in \mathbb{O}(i_1, i_2)$

Case (i) $\eta \notin \mathbb{O}(i_1, i_2)$

From equation (i)

$$\xi^2 - \eta^2 = \xi \text{ and } 2\xi\eta = \eta$$

$$\text{Let } 2\xi\eta = \eta$$

$$\Rightarrow 2\xi = 1 \quad (\because \eta \notin \mathbb{O}(i_1, i_2))$$

$$\Rightarrow \xi = \frac{1}{2}$$

$$\text{From } \xi^2 - \eta^2 = \xi$$

$$\Rightarrow \eta^2 = \xi^2 - \xi = \left(\frac{1}{2}\right)^2 - \frac{1}{2}$$

$$\Rightarrow \eta^2 = -\frac{1}{4}$$

$$\Rightarrow ({}^1\eta)^2 e_1 + ({}^2\eta)^2 e_1^\dagger = -\frac{1}{4} e_1 - \frac{1}{4} e_1^\dagger$$

$$\Rightarrow ({}^1\eta)^2 = -\frac{1}{4} \text{ and } ({}^2\eta)^2 = -\frac{1}{4}$$

$$\Rightarrow {}^1\eta = \frac{i_1}{2}, -\frac{i_1}{2} \text{ and } {}^2\eta = \frac{i_1}{2}, -\frac{i_1}{2}$$

$$\Rightarrow \eta = {}^1\eta e_1 + {}^2\eta e_1^\dagger$$

$$\Rightarrow \eta = \frac{i_1}{2}, -\frac{i_1}{2}, \frac{i_2}{2}, -\frac{i_2}{2}$$

$$\text{So, we get } \xi = \frac{1}{2} \text{ and } \eta = \frac{i_1}{2}, -\frac{i_1}{2}, \frac{i_2}{2}, -\frac{i_2}{2}$$

Now,

$$\zeta = \xi + i_3\eta$$

$$\Rightarrow \zeta = e_2 = \frac{1+i_1i_3}{2}, e_2^\dagger = \frac{1-i_1i_3}{2}, e_3 = \frac{1+i_2i_3}{2}, e_3^\dagger = \frac{1-i_2i_3}{2}$$

Case (ii) $\eta \in \mathbb{O}(i_1, i_2)$

Then $\eta = 0$ or αe_1 or $\beta e_1^\dagger$; $\alpha \neq 0, \beta \neq 0 \in \mathbb{C}(i_1)$

(a) $\eta = 0$

From equation (i)

$$\xi^2 - \eta^2 = \xi \text{ and } 2\xi\eta = \eta$$

$$\Rightarrow \xi^2 = \xi$$

$$\Rightarrow \xi = 0, 1, e_1, e_1^\dagger$$

$$\text{Now, } \xi = 0, 1, e_1, e_1^\dagger \text{ and } \eta = 0$$

$$\zeta = \xi + i_3\eta$$

$$\Rightarrow \zeta = 0, 1, e_1, e_1^\dagger$$

$$(b) \eta = \alpha e_1; \alpha \neq 0$$

From (i)

$$\xi^2 - \eta^2 = \xi \text{ and } 2\xi\eta = \eta$$

$$2\xi\eta = \eta$$

$$\Rightarrow 2\xi\alpha e_1 = \alpha e_1$$

$$\Rightarrow 2^1\xi\alpha e_1 = \alpha e_1$$

$$\Rightarrow 2^1\xi e_1 = e_1$$

$$\Rightarrow 2^1\xi = 1$$

$$\Rightarrow {}^1\xi = \frac{1}{2}$$

Now, from

$$\xi^2 - \eta^2 = \xi$$

$$\Rightarrow ({}^1\xi)^2 e_1 + ({}^2\xi)^2 e_1^\dagger - \alpha^2 e_1 = {}^1\xi e_1 + {}^2\xi e_1^\dagger$$

$$\Rightarrow \frac{1}{4} e_1 + ({}^2\xi)^2 e_1^\dagger - \alpha^2 e_1 = \frac{1}{2} e_1 + {}^2\xi e_1^\dagger$$

$$\Rightarrow \left(\frac{1}{4} - \alpha^2\right) e_1 + ({}^2\xi)^2 e_1^\dagger = \frac{1}{2} e_1 + {}^2\xi e_1^\dagger$$

$$\Rightarrow \frac{1}{4} - \alpha^2 = \frac{1}{2} \text{ and } ({}^2\xi)^2 = {}^2\xi$$

$$\Rightarrow \alpha = \frac{i_1}{2}, -\frac{i_1}{2} \text{ and } {}^2\xi = 0, 1$$

$$\Rightarrow \alpha = \frac{i_1}{2}, -\frac{i_1}{2} \text{ and } {}^2\xi = 0, 1$$

$$\xi = {}^1\xi e_1 + {}^2\xi e_1^\dagger = \frac{1}{2} e_1, \frac{1}{2} e_1 + e_1^\dagger \text{ and } \eta = \alpha e_1 = \frac{i_1}{2} e_1, -\frac{i_1}{2} e_1$$

Now,

$$\zeta = \xi + i_3 \eta$$

$$\Rightarrow \zeta = \frac{1}{2} e_1 + i_3 \frac{i_1}{2} e_1 = \left(\frac{1 + i_1 i_3}{2} \right) e_1 = e_1 e_2,$$

$$\zeta = \frac{1}{2} e_1 - i_3 \frac{i_1}{2} e_1 = \left(\frac{1 - i_1 i_3}{2} \right) e_1 = e_1 e_2^\dagger,$$

$$\zeta = \left(\frac{1}{2} e_1 + e_1^\dagger \right) + i_3 \frac{i_1}{2} e_1 = e_1^\dagger + \left(\frac{1 + i_1 i_3}{2} \right) e_1 = e_1^\dagger + e_1 e_2 = 1 - e_1 e_2^\dagger,$$

$$\zeta = \left(\frac{1}{2} e_1 + e_1^\dagger \right) - i_3 \frac{i_1}{2} e_1 = e_1^\dagger + \left(\frac{1 - i_1 i_3}{2} \right) e_1 = e_1^\dagger + e_2^\dagger e_1 = 1 - e_1 e_2$$

Hence,

$$\zeta = e_1 e_2, e_1 e_2^\dagger, 1 - e_1 e_2^\dagger, 1 - e_1 e_2$$

$$(c) \eta = \beta e_1^\dagger; \beta \neq 0$$

From (i)

$$\xi^2 - \eta^2 = \xi \text{ and } 2\xi\eta = \eta$$

$$2\xi\eta = \eta$$

$$\Rightarrow 2\xi\beta e_1^\dagger = \beta e_1^\dagger$$

$$\Rightarrow 2^2\xi\beta e_1^\dagger = \beta e_1^\dagger$$

$$\Rightarrow 2^2\xi e_1^\dagger = e_1^\dagger$$

$$\Rightarrow 2^2\xi = 1$$

$$\Rightarrow {}^2\xi = \frac{1}{2}$$

Now, from

$$\xi^2 - \eta^2 = \xi$$

$$\Rightarrow ({}^1\xi)^2 e_1 + ({}^2\xi)^2 e_1^\dagger - \beta^2 e_1^\dagger = {}^1\xi e_1 + {}^2\xi e_1^\dagger$$

$$\Rightarrow ({}^1\xi)^2 e_1 + \frac{1}{4} e_1^\dagger - \beta^2 e_1^\dagger = {}^1\xi e_1 + \frac{1}{2} e_1^\dagger$$

$$\Rightarrow ({}^1\xi)^2 e_1 + \left(\frac{1}{4} - \beta^2 \right) e_1^\dagger = {}^1\xi e_1 + \frac{1}{2} e_1^\dagger$$

$$\Rightarrow ({}^1\xi)^2 = {}^1\xi \text{ and } \frac{1}{4} - \beta^2 = \frac{1}{2}$$

$$\Rightarrow {}^1\xi = 0, 1 \text{ and } \beta = \frac{i_1}{2}, -\frac{i_1}{2}$$

$$\xi = {}^1\xi e_1 + {}^2\xi e_1^\dagger = \frac{1}{2} e_1^\dagger, e_1 + \frac{1}{2} e_1^\dagger \text{ and } \eta = \beta e_1^\dagger = \frac{i_1}{2} e_1^\dagger, -\frac{i_1}{2} e_1^\dagger$$

Now, $\zeta = \xi + i_3 \eta$

$$\zeta = \frac{1}{2} e_1^\dagger + i_3 \frac{i_1}{2} e_1^\dagger = \left(\frac{1 + i_1 i_3}{2} \right) e_1^\dagger = e_1^\dagger e_2,$$

$$\zeta = \frac{1}{2} e_1^\dagger - i_3 \frac{i_1}{2} e_1^\dagger = \left(\frac{1 - i_1 i_3}{2} \right) e_1^\dagger = e_1^\dagger e_2^\dagger,$$

$$\zeta = \left(e_1^\dagger + \frac{1}{2} e_1^\dagger \right) + i_3 \frac{i_1}{2} e_1^\dagger = e_1 + \left(\frac{1 + i_1 i_3}{2} \right) e_1^\dagger = e_1 + e_1^\dagger e_2 = 1 - e_1^\dagger e_2^\dagger,$$

$$\zeta = \left(e_1 + \frac{1}{2} e_1^\dagger \right) - i_3 \frac{i_1}{2} e_1^\dagger = e_1 + \left(\frac{1 - i_1 i_3}{2} \right) e_1^\dagger = e_1 + e_1^\dagger e_2^\dagger = 1 - e_1^\dagger e_2$$

Hence,

$$\zeta = e_1^\dagger e_2, e_1^\dagger e_2^\dagger, 1 - e_1^\dagger e_2^\dagger, 1 - e_1^\dagger e_2$$

We get total 16 idempotent elements which are

$$0, 1, e_1, e_1^\dagger, e_2, e_2^\dagger, e_3, e_3^\dagger, e_1 e_2, e_1 e_2^\dagger, 1 - e_1 e_2^\dagger, 1 - e_1 e_2, e_1^\dagger e_2, e_1^\dagger e_2^\dagger, 1 - e_1^\dagger e_2^\dagger, 1 - e_1^\dagger e_2$$

2.2 Different Idempotent Representation of Tricomplex Number:

There are several idempotent representations possible for Tricomplex numbers. Some of them are shown here.

(R1) A Tricomplex number $\zeta = \xi + i_3 \eta$; $\xi, \eta \in \mathbb{C}(i_1, i_2)$ can be represent as

$$\xi + i_3 \eta = (\xi - i_1 \eta) \left(\frac{1 + i_1 i_3}{2} \right) + (\xi + i_1 \eta) \left(\frac{1 - i_1 i_3}{2} \right) = (\xi - i_1 \eta) e_2 + (\xi + i_1 \eta) e_2^\dagger$$

$$\xi + i_3 \eta = (\xi - i_2 \eta) \left(\frac{1 + i_2 i_3}{2} \right) + (\xi + i_2 \eta) \left(\frac{1 - i_2 i_3}{2} \right) = (\xi - i_2 \eta) e_3 + (\xi + i_2 \eta) e_3^\dagger$$

(R2) A Tricomplex number $\zeta = \xi + i_2 \eta$; $\xi, \eta \in \mathbb{C}(i_1, i_3)$ can be represent as

$$\xi + i_2 \eta = (\xi - i_1 \eta) \left(\frac{1 + i_1 i_2}{2} \right) + (\xi + i_1 \eta) \left(\frac{1 - i_1 i_2}{2} \right) = (\xi - i_1 \eta) e_1 + (\xi + i_1 \eta) e_1^\dagger$$

$$\xi + i_2 \eta = (\xi - i_3 \eta) \left(\frac{1 + i_2 i_3}{2} \right) + (\xi + i_3 \eta) \left(\frac{1 - i_2 i_3}{2} \right) = (\xi - i_3 \eta) e_3 + (\xi + i_3 \eta) e_3^\dagger$$

(R3) A Tricomplex number $\zeta = \xi + i_1 \eta$; $\xi, \eta \in \mathbb{C}(i_2, i_3)$ can be represent as

$$\xi + i_1 \eta = (\xi - i_2 \eta) \left(\frac{1 + i_1 i_2}{2} \right) + (\xi + i_2 \eta) \left(\frac{1 - i_1 i_2}{2} \right) = (\xi - i_2 \eta) e_1 + (\xi + i_2 \eta) e_1^\dagger$$

$$\xi + i_1 \eta = (\xi - i_3 \eta) \left(\frac{1 + i_2 i_3}{2} \right) + (\xi + i_3 \eta) \left(\frac{1 - i_2 i_3}{2} \right) = (\xi - i_3 \eta) e_3 + (\xi + i_3 \eta) e_3^\dagger$$

2.3 Idempotent Elements by using idempotent techniques:

Let $\zeta = \xi e_1 + \eta e_1^\dagger \in \mathbb{C}(i_1, i_2, i_3)$; $\xi, \eta \in \mathbb{C}(i_1, i_3)$ be an idempotent element

$$\Rightarrow \zeta^2 = \zeta$$

$$\Rightarrow (\xi e_1 + \eta e_1^\dagger)^2 = \xi e_1 + \eta e_1^\dagger$$

$$\Rightarrow \xi^2 e_1 + \eta^2 e_1^\dagger = \xi e_1 + \eta e_1^\dagger$$

$$\Rightarrow \xi^2 = \xi \text{ and } \eta^2 = \eta$$

$$\Rightarrow \xi = 0, 1, e_2, e_2^\dagger \text{ and } \eta = 0, 1, e_2, e_2^\dagger$$

As, $\zeta = \xi e_1 + \eta e_1^\dagger$, therefore

1	$\xi = 0$	$\eta = 0$	$\zeta = 0e_1 + 0e_1^\dagger = 0$
2	$\xi = 0$	$\eta = 1$	$\zeta = 0e_1 + 1e_1^\dagger = e_1^\dagger$
3	$\xi = 0$	$\eta = e_2$	$\zeta = 0e_1 + e_2 e_1^\dagger = e_1^\dagger e_2$
4	$\xi = 0$	$\eta = e_2^\dagger$	$\zeta = 0e_1 + e_2^\dagger e_1^\dagger = e_1^\dagger e_2^\dagger$
5	$\xi = 1$	$\eta = 0$	$\zeta = 1e_1 + 0e_1^\dagger = e_1$
6	$\xi = 1$	$\eta = 1$	$\zeta = 1e_1 + 1e_1^\dagger = 1$
7	$\xi = 1$	$\eta = e_2$	$\zeta = 1e_1 + e_2 e_1^\dagger = e_1 + e_2 e_1^\dagger = 1 - e_1^\dagger e_2^\dagger$
8	$\xi = 1$	$\eta = e_2^\dagger$	$\zeta = 1e_1 + e_2^\dagger e_1^\dagger = e_1 + e_2^\dagger e_1^\dagger = 1 - e_1^\dagger e_2$
9	$\xi = e_2$	$\eta = 0$	$\zeta = e_2 e_1 + 0e_1^\dagger = e_1 e_2$
10	$\xi = e_2$	$\eta = 1$	$\zeta = e_2 e_1 + 1e_1^\dagger = e_1 e_2 + e_1^\dagger = 1 - e_1 e_2^\dagger$
11	$\xi = e_2$	$\eta = e_2$	$\zeta = e_2 e_1 + e_2 e_1^\dagger = e_2$
12	$\xi = e_2$	$\eta = e_2^\dagger$	$\zeta = e_2 e_1 + e_2^\dagger e_1^\dagger = e_3^\dagger$
13	$\xi = e_2^\dagger$	$\eta = 0$	$\zeta = e_2^\dagger e_1 + 0e_1^\dagger = e_1 e_2^\dagger$
14	$\xi = e_2^\dagger$	$\eta = 1$	$\zeta = e_2^\dagger e_1 + 1e_1^\dagger = e_2^\dagger e_1 + e_1^\dagger = 1 - e_1 e_2$
15	$\xi = e_2^\dagger$	$\eta = e_2$	$\zeta = e_2^\dagger e_1 + e_2 e_1^\dagger = e_3$
16	$\xi = e_2^\dagger$	$\eta = e_2^\dagger$	$\zeta = e_2^\dagger e_1 + e_1^\dagger e_2^\dagger = e_2^\dagger$

2.4 Idempotent Elements in $\mathbb{C}(i_1, i_2, i_3)$ by using idempotent techniques in different idempotent representation

Let $\zeta = \xi e_2 + \eta e_2^\dagger \in \mathbb{C}(i_1, i_2, i_3)$; $\xi, \eta \in \mathbb{C}(i_1, i_2)$ be an idempotent element

$$\Rightarrow \zeta^2 = \zeta$$

$$\Rightarrow (\xi e_2 + \eta e_2^\dagger)^2 = \xi e_2 + \eta e_2^\dagger$$

$$\Rightarrow \xi^2 e_2 + \eta^2 e_2^\dagger = \xi e_2 + \eta e_2^\dagger$$

$$\Rightarrow \xi^2 = \xi \text{ and } \eta^2 = \eta$$

$$\Rightarrow \xi = 0, 1, e_1, e_1^\dagger \text{ and } \eta = 0, 1, e_1, e_1^\dagger$$

As, $\zeta = \xi e_2 + \eta e_2^\dagger$, therefore

1	$\xi = 0$	$\eta = 0$	$\zeta = 0e_2 + 0e_2^\dagger = 0$
2	$\xi = 0$	$\eta = 1$	$\zeta = 0e_2 + 1e_2^\dagger = e_2^\dagger$
3	$\xi = 0$	$\eta = e_1$	$\zeta = 0e_2 + e_1e_2^\dagger = e_1e_2^\dagger$
4	$\xi = 0$	$\eta = e_1^\dagger$	$\zeta = 0e_2 + e_1^\dagger e_2^\dagger = e_1^\dagger e_2^\dagger$
5	$\xi = 1$	$\eta = 0$	$\zeta = 1e_2 + 0e_2^\dagger = e_2$
6	$\xi = 1$	$\eta = 1$	$\zeta = 1e_2 + 1e_2^\dagger = 1$
7	$\xi = 1$	$\eta = e_1$	$\zeta = 1e_2 + e_1e_2^\dagger = e_2 + e_1e_2^\dagger = 1 - e_1^\dagger e_2^\dagger$
8	$\xi = 1$	$\eta = e_1^\dagger$	$\zeta = 1e_2 + e_1^\dagger e_2^\dagger = e_2 + e_1^\dagger e_2^\dagger = 1 - e_1e_2^\dagger$
9	$\xi = e_1$	$\eta = 0$	$\zeta = e_1e_2 + 0e_2^\dagger = e_1e_2$
10	$\xi = e_1$	$\eta = 1$	$\zeta = e_1e_2 + 1e_2^\dagger = e_1e_2 + e_2^\dagger = 1 - e_1^\dagger e_2$
11	$\xi = e_1$	$\eta = e_1$	$\zeta = e_1e_2 + e_1e_2^\dagger = e_1$
12	$\xi = e_1$	$\eta = e_1^\dagger$	$\zeta = e_1e_2 + e_1^\dagger e_2^\dagger = e_3^\dagger$
13	$\xi = e_1^\dagger$	$\eta = 0$	$\zeta = e_1^\dagger e_2 + 0e_2^\dagger = e_1^\dagger e_2$
14	$\xi = e_1^\dagger$	$\eta = 1$	$\zeta = e_1^\dagger e_2 + 1e_2^\dagger = e_1^\dagger e_2 + e_2^\dagger = 1 - e_1e_2$
15	$\xi = e_1^\dagger$	$\eta = e_1$	$\zeta = e_1^\dagger e_2 + e_1e_2^\dagger = e_3$
16	$\xi = e_1^\dagger$	$\eta = e_1^\dagger$	$\zeta = e_1^\dagger e_2 + e_1^\dagger e_2^\dagger = e_1^\dagger$

2.5 Idempotent elements and their representation

There are 16 total number of idempotent elements exist in $\mathbb{C}(i_1, i_2, i_3)$.

SN	Notation of idempotent element	Value of idempotent element
1	0	0
2	1	1
3	e_1	$\frac{1 + i_1 i_2}{2}$
4	$e_1^\dagger$	$\frac{1 - i_1 i_2}{2}$

SN	Notation of idempotent element	Value of idempotent element
5	e_2	$\frac{1 + i_1 i_3}{2}$
6	$e_2^\dagger$	$\frac{1 - i_1 i_3}{2}$
7	e_3	$\frac{1 + i_2 i_3}{2}$
8	$e_3^\dagger$	$\frac{1 - i_2 i_3}{2}$
9	$e_4 = e_1 e_2$	$\frac{1}{4} (1 + i_1 i_2 + i_1 i_3 - i_2 i_3)$
10	$e_4^\dagger = 1 - e_1 e_2$	$\frac{1}{4} (3 - i_1 i_2 - i_1 i_3 + i_2 i_3)$
11	$e_5 = e_1 e_2^\dagger$	$\frac{1}{4} (1 + i_1 i_2 - i_1 i_3 + i_2 i_3)$
12	$e_5^\dagger = 1 - e_1 e_2^\dagger$	$\frac{1}{4} (3 - i_1 i_2 + i_1 i_3 - i_2 i_3)$
13	$e_6 = e_1^\dagger e_2$	$\frac{1}{4} (1 - i_1 i_2 + i_1 i_3 + i_2 i_3)$
14	$e_6^\dagger = 1 - e_1^\dagger e_2$	$\frac{1}{4} (3 + i_1 i_2 - i_1 i_3 - i_2 i_3)$
15	$e_7 = e_1^\dagger e_2^\dagger$	$\frac{1}{4} (1 - i_1 i_2 - i_1 i_3 - i_2 i_3)$
16	$e_7^\dagger = 1 - e_1^\dagger e_2^\dagger$	$\frac{1}{4} (3 + i_1 i_2 + i_1 i_3 + i_2 i_3)$

2.6 Relation between idempotent elements (In the form of multiplication)

- (i) $e_1 e_1^\dagger = e_1 e_6 = e_1 e_7 = e_1^\dagger e_4 = e_1^\dagger e_5 = e_2 e_2^\dagger = e_2 e_5 = e_2 e_7 = e_2^\dagger e_4 = e_2^\dagger e_6 = e_3 e_3^\dagger = e_3 e_4 = e_3 e_7 = e_3^\dagger e_5 = e_3^\dagger e_6 = e_4 e_4^\dagger = e_4 e_5 = e_4 e_6 = e_4 e_7 = e_5 e_5^\dagger = e_5 e_6 = e_5 e_7 = e_6 e_6^\dagger = e_6 e_7 = e_7 e_7^\dagger = e_1 e_2 e_3 = 0$
- (ii) $e_1 e_6^\dagger = e_1 e_7^\dagger = e_6^\dagger e_7^\dagger = e_1$
- (iii) $e_1^\dagger e_4^\dagger = e_1^\dagger e_5^\dagger = e_4^\dagger e_5^\dagger = e_1^\dagger$
- (iv) $e_2 e_5^\dagger = e_2 e_7^\dagger = e_5^\dagger e_7^\dagger = e_2$
- (v) $e_2^\dagger e_4^\dagger = e_2^\dagger e_6^\dagger = e_4^\dagger e_6^\dagger = e_2^\dagger$
- (vi) $e_3 e_4^\dagger = e_3 e_7^\dagger = e_4^\dagger e_7^\dagger = e_3$
- (vii) $e_3^\dagger e_5^\dagger = e_3^\dagger e_6^\dagger = e_5^\dagger e_6^\dagger = e_3^\dagger$
- (viii) $e_1 e_2 = e_1 e_3^\dagger = e_1 e_4 = e_1 e_5^\dagger = e_2 e_3^\dagger = e_2 e_4 = e_2 e_6^\dagger = e_3^\dagger e_4 = e_3^\dagger e_7^\dagger = e_4 e_5^\dagger = e_4 e_6^\dagger = e_4 e_7^\dagger = e_4$

$$(ix) \quad e_1 e_2^\dagger = e_1 e_3 = e_1 e_4^\dagger = e_1 e_5 = e_2^\dagger e_3 = e_2^\dagger e_5 = e_2^\dagger e_7^\dagger = e_3 e_5 = e_3 e_6^\dagger = e_4^\dagger e_5 = e_5 e_6^\dagger = e_5 e_7^\dagger = e_5$$

$$(x) \quad e_1^\dagger e_2 = e_1^\dagger e_3 = e_1^\dagger e_6 = e_1^\dagger e_7^\dagger = e_2 e_3 = e_2 e_4^\dagger = e_2 e_6 = e_3 e_5^\dagger = e_3 e_6 = e_4^\dagger e_6 = e_5^\dagger e_6 = e_6 e_7^\dagger = e_6$$

$$(xi) \quad e_1^\dagger e_2^\dagger = e_1^\dagger e_3^\dagger = e_1^\dagger e_6^\dagger = e_1^\dagger e_7 = e_2^\dagger e_3^\dagger = e_2^\dagger e_5^\dagger = e_2^\dagger e_7 = e_3^\dagger e_4^\dagger = e_3^\dagger e_7 = e_4^\dagger e_7 = e_5^\dagger e_7 = e_6^\dagger e_7 = e_7$$

2.7 Relation between idempotent elements (In the form of addition)

$$(i) \quad e_1 + e_1^\dagger = 1$$

$$(ii) \quad e_2 + e_2^\dagger = 1$$

$$(iii) \quad e_3 + e_3^\dagger = 1$$

$$(iv) \quad e_4 + e_4^\dagger = 1$$

$$(v) \quad e_5 + e_5^\dagger = 1$$

$$(vi) \quad e_6 + e_6^\dagger = 1$$

$$(vii) \quad e_7 + e_7^\dagger = 1$$

$$(viii) \quad e_1 = e_4 + e_5$$

$$(ix) \quad e_2 = e_4 + e_6$$

$$(x) \quad e_3 = e_5 + e_6$$

$$(xi) \quad e_1^\dagger = e_6 + e_7$$

$$(xii) \quad e_2^\dagger = e_5 + e_7$$

$$(xiii) \quad e_3^\dagger = e_4 + e_7$$

$$(xiv) \quad e_1 + e_6 + e_7 = 1$$

$$(xv) \quad e_2 + e_5 + e_7 = 1$$

$$(xvi) \quad e_3 + e_4 + e_7 = 1$$

$$(xvii) \quad e_1 + e_6 = e_2 + e_5 = e_3 + e_4 = e_7^\dagger$$

$$(xviii) \quad e_1 + e_7 = e_2^\dagger + e_4 = e_3^\dagger + e_5 = e_6^\dagger$$

$$(xix) \quad e_1^\dagger + e_4 = e_2 + e_7 = e_3^\dagger + e_6 = e_5^\dagger$$

$$(xx) \quad e_1^\dagger + e_5 = e_2^\dagger + e_6 = e_3 + e_7 = e_4^\dagger$$

2.8 Note :

- (i) The set of idempotent elements $E = \{0, 1, e_1, e_1^\dagger, e_2, e_2^\dagger, e_3, e_3^\dagger, e_4, e_4^\dagger, e_5, e_5^\dagger, e_6, e_6^\dagger, e_7, e_7^\dagger\}$ of $\mathbb{C}(i_1, i_2, i_3)$ is a commutative monoid.

(ii) Total number of idempotent element in $\mathbb{C}(i_1) = 2^{2^0}$

Total number of idempotent element in $\mathbb{C}(i_2) = 2^{2^0}$

Total number of idempotent element in $\mathbb{C}(i_3) = 2^{2^0}$

(iii) Total number of idempotent element in $\mathbb{C}(i_1, i_2) = 2^{2^1}$

Total number of idempotent element in $\mathbb{C}(i_1, i_3) = 2^{2^1}$

Total number of idempotent element in $\mathbb{C}(i_2, i_3) = 2^{2^1}$

(iv) Total number of idempotent element in $\mathbb{C}(i_1, i_2, i_3) = 2^{2^2}$

(v) Total number of idempotent element in $\mathbb{C}(i_1, i_2, i_3, \dots \dots i_n) = 2^{2^{n-1}}$

Acknowledgements

I am heartily thankful to Dr. R.S. Giri and Dr. Chitranjan Singh, Govt. Degree College, Raza Nagar, Swar, Rampur (U.P), Dr. Sukhdev Singh, Lovely Professional University, Punjab, Dr Hamant Kumar, Veerangana Avantibai Govt Degree College, Atrauli, Aligarh (U.P) and all staff of Govt. Degree College, Raza Nagar, Swar, Rampur (U.P) for their encouragement and support during the preparation of this paper.

References

- [1] Segre, C. (1892) “ Le rappresentazioni reali delle forme complesse e gli enti iperalgebrici” Math. Ann. v. 40, 413–467.
- [2] Price, G. B. (1991) “An introduction to multicomplex space and Functions” Marcel Dekker
- [3] Luna-Elizarrarás, M.E., Shapiro, M., Struppa, D. C., Vajiac, A.(2015) “Bicomplex Holomorphic Functions:The Algebra, Geometry and Analysis of Bicomplex Numbers” Springer International Publishing.
- [4] Kumar, J.(2018) “On Some Properties of Bicomplex Numbers •Conjugates •Inverse •Modulii” Journal of Emerging Technologies and Innovative Research (JETIR), .5(9), 475-499
- [5] Srivastava ,Rajiv K.(2008) “Certain Topological Aspects of Bicomplex Space”. Bull. Pure & Appl. Math,: 222-234.